STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, CHENNAI - 6

ZOOLOGY - |

CLASS: 11
Time Allowed: 2.30 Hours Maximum Marks: 70
Instructions:

i. Check the question paper for fairness of printing.

ii. Use Blue or Black ink to write and underline and pencil

to draw diagrams:
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SECTION - |
(15X1=15)

Note: i. Answer all the questions.
ii. Each question carries 1 mark.
Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer.
iii. Write the correct answer for the questions without options.
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1. Which of the following is the correct sequence of taxonomical

hierarchy?

a) Class, Family, Phylum, Order, Genus and Species
b) Phylum, Class, Order, Family, Genus and Species
c) Phylum, Order, Family, Genus, Species and Class

d) Class, Phylum, Order, Family, Genus and Species
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2. Match the following zoological names with their common names.

1. Ascaris lumbricoides - (i) Pin worm

2. Enfterobius - (ii) Round worm
3. Wuchereria bancrofti - (iii) Hook worm
4. Ancylostoma deuodenale — (iv) Filarial worm

1 2 3 4
a. ii i iv iii
b. i ii iii iv
C. i i iii iv
d. iii i i iv
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3. Assertion (A): Bilateral symmetry in Triploblastic animals is

considered advantageous.

Reason (R): This helps animal in seeking food, locating mates and

escaping from predators.

a) A and R are correct and R explains A.
b) A and R are correct but R is not an explanation of A.
c) Ais true and R is wrong.

d) Ais wrong and R is true.
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4. |dentify the tissues marked A and B in the given pictures.
a) Adipose tissue and simple columnar epithelial tissue
b) Reticular tissue and simple columnar epithelial tissue
c) Adipose tissue and pseudo striated columnar epithelial tissue

d) Reticular tissue and pseudo striated columnar epithelial tissue
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5. The male genital aperture is located at -------- segment. Number of
penial setae in genital apertures is -------

a. 18th segment and 2 pairs b. 18th segment and a single pair

c.14th segment and 2 pairs d. 14th segment and a single pair.
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6. ldentify the type of nephridia of earthworm. Write the segment

where they are present.

Mega nephridium and 19t segment onwards.
Micro nephridium and 14th segment onwards

Mega nephridium and 14th segment onwards

o o T o

Pharyngeal nephridium and 5 to 9th segments
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7. Which one of the following is called wisdom teeth?
a. Third molar, four in number
b. Third molar, two in number
c. Second molar, four in number

d. Second molar, two in number
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8. Which of the following is called “pace maker” of the heart?

a. AV node b. SA node
c. Purkinje fibre d. Bundle of His
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9. What will happen if there is no Henle’s loop in the nephron of mammals?
a. No urine formation
b. No change in the quality and quantity of urine
c. Formation of concentrated urine
d

. Formation of dilute urine
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10.Arrange the vertebrae in ascending order on the basis of their number

1. Cervical Vertbrae 2. Thoracic vertebrae

3. Lumbar vertebrae 4. Coccyx vertebra
a.4,3,2and 1 b.4,3,1and 2
c. 3,4,2and 1 d. 3,4,1 and 2
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11.Match the number of spinal nerves in column | with their number given

in column Il
Column | Column Il

P. Cervical nerves - i) 5 pairs

Q. Thoracic nerves - ii) 1 pair

R. Lumbar nerves - iii) 12 pairs

S. Caudal nerves - iv) 8 pairs
a)P-1V Q-1 R-1 S-li
b) P —1li Q-1 R-1 S-1IV
c)P-1IV Q-1 R-1 S-1l
dP-l Q-1v R-1 S—1il

sTibg



1. Osrag - Qarfdsii’ Rsirer sambhloy  HIibLsHsnen OB Tz

ll-¢ QsrfHldsiiud Hlsrenr HiHbhs srenrsnildanmemuufhb Glummbs

Qsra | Qsrss |
P. supdsn vims mBribyssh - i) 5 @)ewewt
Q. iy UEHI IO ST - ii) 1 @)ewewr
R. @@ w@g B ssi - iif) 12 3)swewr
S. aurs U BILDLHT - iv) 8 @)swemr

12. Which of the following hormones are referred as 3F hormones

. Insulin and glucagon

a
b. Adrenalin and nor-adrenalin
c. Calcitonin and paratharmone
d. Thymulin and thymosine
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13. Foetus development can be observed using
a. ultra sonogram b. X-ray
c. ECG d. EEG
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14. Find the correctly matched pair

. Karungalli Schleicchera oleosa

Acacia catechu

. Kumbadiri Acacia nilotica

a
b. Karuvelai
c
d

Laccifer lacca

. Lac insect

. EEG
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15. Find out the name of the breed from the clues given
1. Golden or light yellow coloured, good egg layers, delicious and

beak is long

2. This breed mature early and begin to lay eggs at the age of 5 or 6 months
3. Pea comb is the important character of this breed.
a. 1. Brahma, 2. Leghorn and 3. Chittagong
b. 1. Brahma 2. Chittagong and 3. Leghorn
c. 1.Chittagong, 2. Brahma and 3.leghorn
d. 1. Chittagong, 2. Leghorn and 3. Brahma
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SECTION - 11

(6X2=12)

Answer any six of the following. Question No. 21 is compulsory.
Each question carries 2 marks. Answer in about 30 words.

Niflay - 1



(6X2=12)
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16. Differentiate probiotic from pathogenic bacteria.

16. Liuts &0 1 1T e (s remsy thﬂ'ﬂ_bdhﬁﬂ i Ilréile,ﬂul.'lﬂﬂﬁﬂ:m'f_i;g Gﬁ‘ugﬂ ToET]

17. Write down the significance of INOTAXA.
17. INOTAXAals  phalurdmisnsssnam sriphie .

18. a) Which is the largest phylum of the Kingdom Animalia?
b) Write any two excretory organs of the organisms of the mentioned

phylum.

18. o) allsviimevsg s lls0Glufy Blgr@es sta ?
o) AL HTE o ulflartsel  sflayBd o ayliyssit &) rsirigsn
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19. a) ldentify the muscle tissue mentioned below.

b) Write down the parts marked as X and Y.
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20. a) Red blood cells are produced in ---------



b) RBC production is enhanced by a renal hormone -------
20. a) Flaun |@& @ iﬂ 14 ElaEdwiy ‘@‘:. T—
b) #auiiism 2 MuUbBeng 5T AniBre amriBwrs -—------- .

21. a) What is ornithine cycle?
b) Where does it occur?

21. a) gyyiaflgsn:  &ypnd srsirmrsd srsirs ?
b) @hmsipd: st memi Gy ?

22. Define - Spike potential.

22. SUSHIW]  — Fali(LpsmIsy LT 6T G 26Ts ?
23. Write any two significance of Electro Encephalogram. (EEG)

23. srevd1_ Grrsrenr@auBsaoralymiflsir (EEG) upébalwisn bz (@) rsvbrig.e
STUPSI -
24. Mention the three steps involved in lac cultivation.
24. syrdE o Hussui  mpsity Uy Blemsussmard @ ol
SECTION - III
(6X3=18)

Answer any six of the following. Question No. 30 is compulsory.
Each question carries 3 marks. Answer in about 45 words.

(Nl - 1l
(6X3=18)

stamsuBuwisnin  r  allsrrdsend  allewiweafl. allorr sts 30-d@  allenwaflling

&1 rrum:rr[g-,r,'l .

25. Observe the vertebrate animals given below (A and B). Write down
any two common characters and unique characters of these animals.
A B

f_,-"'h"."‘:q- “

J;‘;
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26. Define the terms a) Vermiwash and b) wormbin

26. £1psha Glarhamsmen susnrw) —
) Losi Gapilu Lt B 9. GUTLRL]]

27. What do you infer from Oxygen haemoglobin dissociation curve?

27. my&dlg  anf GuwrgGenrillsr Uliflsnssusnanay mlds 5 9 Mleusr wrensu?

28. ‘Smoking is injurious to health’ — Justify the statement.

28. ‘|;5‘a'!.ul;|'u IpddELD 21§ J’biﬂ,"‘.ﬂ.;ﬁ Sa(h Eﬁﬂﬁmalﬁﬁﬂéy[ﬂ}[ - Igui.'lurl'rlr@:i,.gj.h.

29. Differentiate Stenohaline and Euryhaline animals. Give examples.
29. s 'Eﬂr.ll‘ﬂmll sMEUET LOMMILD y_]_,rﬂ@p‘:_ﬂﬁmmﬁﬁr mﬂﬁulél@,mﬂ GE’]J‘Q}I 1%

o ;;.liljahnrll':ra. &Hihe .

30. a) What is carpal tunnel?
b) Write the differences between carpals and tarsals.
30. o) wemflbsl & srslsurt srsiimms srsirs 7
o) Losmilda STSRIDLY KBSl LM HEmEETs  sTEIDL| & EhESID 2 _siTs

Q&'Hg]_[l 1T @&:ﬁ?ﬁ&“ arl |_i|']_g’]|', .

31. a) Write the cause of Grave’s disease.
b) Mention any four symptoms of this disease.
31. o) #Braflsh Buriihsrsa Srrenhss wreneu?

=) @BGprulc oyfieP:  aGsei preAmen BB

32. a) Identify the instrument given in this picture.

b) Write the significance of this instrument.
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o) Blas  phAwssbLems  sTUpHIE

33. Name any three fishes and three plants which are cultivated by
the technology called aquaponics.
33. _rﬁli o uflfl — wiuflisusimi i (Tg;.’.é,sirlr'ﬁl ireafldis ) G]_.:;,Il gﬁﬁb@r' i J_.i.g;'lﬁiu eLpsUL
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SECTION - IV
(5X5=25)
Answer all the questions
Nifley — IV
(6X5=25)

Ssmest h gl allsw 1 dh s e o ailew_werfl.

34. Observe the following diagram and answer the following questions.
e
{‘\.]’\;QE}%EV;’“}
'J 7

i. Mention the phylum of this animal.
ii. What type of symmetry does the animal exhibit?
iii. Name the special cells which helps in food capturing.
iv. Name the larval form of this animal.
v. How does the animal differ from cnidaria?
(OR)

a) Write an account on flight muscles of Columba livia.
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b) How the female reproductive system of pigeon is adapted to

aerial mode of life?

34. £Cp BarBlEsiu’ Hsirer allsutidlsnenr e Gleim £iphs allsur i 61

i

aflewL_ eTipsia .

) Bsuaileon @il Gubpusirer GsrgSlemwid @GUlinl®m. .
) @lsuailavmidlsd o sits FwFLiT Hevrsmomr  ?
3) Glemrsmwil 1igdha, Esuallsvmslst 2 site Anlirs suens Glasmst wreneu?
) Blsuailsvmig]  somdaurplanstsmuwid @il
2 ) @aallwn  BCLAwr Blsm @l allsumialsd STEUENT)
Ssumumaim ?
(s sv4 )
9) Barsvibursfalwraler und @it senasms  HUIHH sTUpHI -
<) ymral  Glush GeriGlug wemrs)  uUmdms Blrwess &

TSUGUT] DTMILIT Syl st ?
35. Tabulate the functions and deficiency symptoms of fat soluble vitamins.
(OR)

a) ldentify the leucocytes labelled A to E in the following diagram.

b) Write down the structure and functions of each type.

35. Qamupiinlls senruy  sweul L flsisall  usellss wHoG Hmpurd ( Bhriissnen
S LS LI () dh 51 5.
(=psvavm )
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36. a) Name the four categories of exercises.

b) List down the beneficial physiological changes of regular exercise.
(OR)

a) What are the components of limbic system?

b) Why do we call limbic system as ‘emotional brain?’
c) Write a note on brain stem.

36. o) 2 L puuindlulls BrsiTE ouDHHEVET TSI .
o) Bar i o L puuindluils eflewereurs srhull meirsm  &Hm 2 HEFwedlw
DO HISDaT LI1g wally .
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37. a) Distinguish between hyper and hypo secretion of hormones with suitable
examples.

b) Explain the terms.
i) Addison’s disease
i) Cretinism
iii) Gull's disease
(OR)
a) What is Piezo-electric effect?

b) Write the clinical significance of Ultrasound imaging.

14



37. 9)) amriGuwrsitgksr Blews &y wWHDID Hemn ST Dpslwsuhsm]
2_STTEBISERL s Baumiu B H51%.
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(Spsvsvg )
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38. a) What are the characters of cultivable freshwater fishes?
b) Explain how hypophysation technique is adopted in induced breeding of fishes?
(OR)

a) What is Multiple ovulation embryo transfer technique?
b) Explain the methodology.
c) What are the advantages?

38. o) susnidhmiing - medresl  1fsiTms Ayl wsry:  wreneu?
<) iBsirsel  emaniGLITesnLGFagsT (pepmulls sTsisun KTt
Qa1 dbain BlaiwiuBEng?
(spsvsvg)
9) uev e GlaueflGwmhm Hmwrh  Glaryflst mlui stsiimn srsirs ?
<) BrsBemLsafl  GHGHTY I Lt sTsisun
GlawsouBha 0B S ns?
@) @#Glaun  gpemmufls meiewica  wWTeweu?
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